7 6HT

| 20+0. |

(Tolerance is @6HT)

2-MT10

Y
[
o
H
< O
od|
L
ol O o~ | o
o> LD Lo Ol o>
(P Ny o>
~I o ~I
(=)
= -
. 1
o N
2-MI10 oH T
(Prepared hole ©8.5)
|
%)
o
o
—
=
[y
264 ~
>k
194 ”
%)
‘ (B
o
o
| w
n . -
cO |
— |
-
o
- |

&

|
|
7 il
|
’
[ | N
o a
g ]
12
N L/

depending on the center cut

the base plate when Arm #1 totates,

¥ | f the thickness 1s more than 40 mm, the manipulator may contact
dimension In the base plate.

(Prepared hole ©8.5)

285.4
137,72
98
61.9

2 :
~o
5 m
N
/
/
/
\ /
x/ -
/7 >
\ 2
\
\
\
\
//)V
///
397 .7
406 .7

N

position
of base plate

C
No|Part name Oty.
A |Base side angled plate(left side) |
B [Base side angled plate(Right side) |
C |Base side plate(for Skewed mounting type) |/
D |Pin 0
E |Hexagon socket head screw M8x25 4
- |Hexagon socket head screw M3x30 4
&
L%
=
&
o mount fthe base side angled frittings <
(1) Drive pins to the base side plate (for Skewed mounting type). i
Protruding part of pins 1S approx.Zmm-omm. <
Base side plate =
(for skewed mounting %ype)j\\\\ P
K
I ) e I}i
Drive pins fo the base side angled plate (left & right sides).
Protruding part of pins 1S approx.Zmm-omm.
B I d led plat ‘
ase side OPE@?% Eigeigﬁ\\ //?Ss;hiiedgsged plate

(2)

(3)

Create a base side ang
1t the pins of the plate for Skewed mounting type
(1) with the holes on the plate

the screws.,

Hexagon socket head screw

led fittings.

M8 x 30

=
m

— -

Pin at each side

Protruding part Zmm-5mm

in the step

in the step (Z2) and secure with

Mount the base side angled fittings to the both sides of manipulator base.

Fit the pins drove

Secure the fiftings by pressing
Left & Right side

't to the

s different for

in the step (2) with the holes on the base.
indicated direction

Hexagon socket head screw

2-M8x25

in the figure below.

¥ The shape of base side angled fittings
left and for right.

Be sure to mount the correct fittings.

Otherwise, the motion range of Arm #/
limited in the bockside.
Base side
angled fittings
()
0
» 2-M8x?25
TITLE
C3 BASE SIDE ANGLED FITTINGS
DRW No. REV_No.
SE | KO EPSON CORP C3_BASE_SIDE_ANGLED _FITTINGS 00




